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QUESTION 1

What is one setting that a network administrator can configure for user roles in an Aruba solution?
A. DHCP pool

B. ClientMatch rules

C. source NAT

D. Maximum session

Correct Answer: D

QUESTION 2

Assume that administrators accept the default forwarding mode for WLANs. How does wireless user traffic flow in a
master-local architecture, and how does it flow in a Mobility Master (MM) architecture?

A. In the master-local architecture, all traffic is tunneled to the master controller to handle. In a MM architecture, all
traffic is tunneled to the MM to handle.

B. In both architectures, APs forward corporate user traffic locally and tunnel guest user traffic to a Mobility Controller
(MC) to handle.

C. In both architectures, traffic is tunneled to a Mobility Controller (MC) to handle.

D. In the master-local architecture, traffic is tunneled to a local Mobility Controller (MC) to handle. In a MM architecture,
all traffic is tunneled to the MM to handle.

Correct Answer: C

QUESTION 3

An AP operates on channel 6. Which device causes the most significant and consistent interference with the signal?
A. cellular phone

B. weather radar

C. wireless security camera operating on channel 8

D. AP operating on channel 11

Correct Answer: C

QUESTION 4

A network administrator examines a list of 2.4GHz clients with low performance in the Mobility Master (MM) dashboard.
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Which property for a client should pose a concern as a potential performance issue?

A. Radio PHY of HT 20MHz

B. Max speed of 72Mbps

C. Goodput data rate of 12 Mbps
D. Usage of 10 MB

Correct Answer: D

QUESTION 5
Refer to the exhibits.

Exhibit 1
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Exam Guest General VLANs Security Access

R— —

Clearpass or other external captive portal

Exhibit 3

Exam Guest General VLANs Security Access

Default role;

A network administrator creates a guest WLAN on an Aruba Mobility Manager (MM). The exhibits show some of the
settings for the WLAN. The administrator does not change the policies for those roles.

How does the firewall control guest clients when they first connect to the WLAN?

A. It permits them to send any DHCP traffic and DNS and web traffic to the Internet. It redirects web traffic destined to
the private network to a login portal.

B. It permits them to send any DHCP and DNS and it redirects all web traffic to a login portal.

C. It permits them to send any DHCP and RADIUS traffic. It redirects all web traffic destined to the Internet to a login
portal and drops web traffic destined to the private network.

D. It does not permit them to send any traffic until they are authenticated.

Correct Answer: B
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